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The mean (Expectation) (W), The variance (O 2) , The standard deviation (O),
The coefficient of correlation (r) .
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The correlation coefficient is a digital scale that

S oD e 5o DL Jalas
belongs to the interval s

S 5,24
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@Two players A and B shoot towards a goa;l. If the Casly e e o PoleY g
probability that player A scores a goal =3 and the ‘ % _ g e o St S 131
probability that player B scores a goal = i , % = Gag) o e o O Sl
find the probability of : ¢ Jlal | > 9
(i) scoring a goal 2Bagl Juzs (1)
(ii) scoring a goal by player A if player B has scored | oS 131 P e ope Coul Jumeus (i)

agoal . a8 O oW
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@Find the expectation and the standard deviation for

3 PR (R TRES PR ¥ P (NP

the following probability distribution : P (i [P (P (WP
Xr 1 3 4 5 ° ¢ v \ ey
f(x) | 04 0.1 0.2 0.3 S N2 BN BN R I
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@IfP(A)=0.45,P(B)=O.6, couT=(0)d ¢ ryto = () J o3l
P(B 1 A)=0.8, A= o)
thenP(AnB)= .......... .

............... =(cnNhJob

@) 0.69 M) 0.6 1@ 1 (D)
(© 036 @ 0.2 10 e
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In an experiment of rolling a regular die once , the
probability of appearing of a prime even number ,

given that the appearing number is greater than 1,

isequal to .............
1 2
5 5
3 4
5 5

Bb\jafvﬁwbjﬁo-t«wisgﬁ&g
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From the data of the following table :

X

50

40

10

20

25

30

Y

70

80

40

50

60

70

Calculate Spearman’s rank correlation coefficient

between x and y and determine its type .

Ola poeadd 3 01 dolidi 51 Jalae s
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@ If A and B are two independent events , P(A)= 0.3,

¢ ',V=(P)J<&:lﬁ.’l‘“éo.;v\>g.)c PQK\Jl
PB)=0.6,thenP(AUB) =+ vevveiiininnnn

................ (UM Jab-r=(0)d

@) 0.18 () 0.28 AN® (D)

© 0.72 @ 0.9 () w3
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If the expectation of a random variable equals 150

10 g5l Slsde ynd absdl OIS 13

and its coefficient of variation equals 2.5 %, then the 7Y ,0 65y ) MY olne

variance of the random variable equals

................. ol Slsdall sl i il 00
225
@ 375 2 i O

© 375 @ 19.4 i, ) rvo
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If X is a continuous random variable , its
probability density function is:

2xX+1
18

, 1 <x< 4

0]
0 , otherweise

Find :

(i) P(X>3)

(1) P(2< X < 4)

LS 215« Saze Wl gie 1 ie ~om OIS 13)

PR
£2 w2\ G VoY
e A
| =095

(v <~ ) (i) s

(¢ >~ >¥)J (i)
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If Z is a standard normal random variable such that:
P(Z<K)=0.1587,
thenK = -+evvevnnnt.

G lne Lo Ul se iz 0
VAV =(@) = ~e) J oS 136

@ 1 ® 05 Ne Y0
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@IfZX :15,2y236’§: X2= 55’2 y2= 496’ . r.‘:uﬂZC \°=u‘zd\§\5!
Y. xy = 20 and n = 6, Answer only one of the following: cea1=" ol oo =" WK
First :  Find the linear correlation L ET L PRPRIRC
coefficient between x and y. 1dadd e d L (o gllaelt o i e oo
Second : Find the equation of the regression line. P L O gjbd\ LI Jelas asmsl Yl

.J\.bd\’\ Jos Aslas v\:g-;\ \.:\3
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If X is a normal random variable whose mean oo Cacds B g e g OIS 13)

1s 1 and its standard deviation is g , then 0B G ol @l oy W

P X Z + 14 G)=creeeeeees
(X2 N e (G Ve ~)

@) 04192 (b) 0.0808 SON @ ey (1)
(©) 0.808 @ 09192 ey (O) WONS)
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@Answer only one question of the following: cJagB e LT oo 13l | ] (90 i

A)If X i I random variable with ks € !
(A) 1S a normal random variable wi w L.»\}.& \W —_ Q\{ 13) (")

mean 45 and variance 25, find: 70 65l anls ¢ £0 6 sl Al st

(i) P(40< X <50)

+ ek g

(ii) The value of K , if P(X = K ) = 0.1151 A
(0:=~r=t)Jd (D)

(B) A Machine in a factory produces cylinders of @i (i)

lengths follow a normal distribution whose mean | -,\\o\ = (&)< ) J 08 13

1S 56 cm and its standard deviation is 2 cm . NI T C*‘ dw\ o 5(0)

Cab L35 o WIshl bl
¢ 76)wsd&s .\‘94 APV
been chosen out of 1000 cylinders. vd e ..J,v “.VW o) }w
@L@Jﬁou\i\b\é@\pw\}kﬂmuﬂ

How many cylinders are expected to be valid? | =\ ., 04 ov -
O P e O e OF
Al gaud Ve e A8l se

0853 O adgciatt OLY plau¥ sue S
Al

The cylinder is only valid if its length lies
between 53 cm and 59 cm. A random sample has
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Table of areas under the standard normal distribution curve

Z 0.00 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09
0.0 0.0000 0.0040 0.0080 0.0120 0.0160 0.0199 0.0239 0.0279 0.0319 0.0359
0.1 0.0398 0.0438 0.0478 0.0517 0.0557 0.0596 0.0636 0.0675 0.0714 0.0753
0.2 0.0793 0.0832 0.0871 0.0910 0.0948 0.0987 0.1026 0.1064 0.1103 0.1141
0.3 0.1179 0.1217 0.1255 0.1293 0.1331 0.1368 0.1406 0.1443 0.1480 0.1517
0.4 0.1554 0.1591 0.1628 0.1664 0.1700 0.1736 0.1772 0.1808 0.1844 0.1879
0.5 0.1915 0.1950 0, 1985 0.2019 0.2054 0.2088 0.2123 0.2157 0.2160 0.2224
0.6 0.2259 0.2291 0.2324 0.2357 0.2389 0.2422 0.2454 0.2486 0.2517 0.2549
0.7 0.2580 0.2611 0.2642 0.2673 0.2704 0.2734 0.2764 0.2794 0.2823 0.2852
0.8 0.2881 0.2910 0.2939 0.2967 0.2995 0.3023 0.3051 0.3078 0.3106 0.3133
0.9 0.3159 0.3186 0.3212 0.3238 0.3264 0.3289 0.3315 0.3340 0.3365 0.3389
1.0 0.3413 0.3438 0.3461 0.3485 0.3508 0.3531 0.3554 0.3577 0.3599 0.3621
1.1 0.3643 0.3665 0.3686 0.3708 0.3729 0.3749 0.3770 0.3790 0.3815 0.3830
1.2 0.3849 0.3869 0.3888 0.3907 0.3925 0.3944 0.3962 0.3980 0.3997 0.4015
1.3 0.4032 0.4049 0.4066 0.4082 0.4099 0.4115 0.4131 0.4147 0.4162 0.4177
1.4 0.4192 0.4207 0.4222 0.4236 0.4251 0.4265 0.4279 0.4292 0.4306 0.4319
1.5 0.4332 0.4345 0.4357 0.4370 0.4382 0.4394 0.4406 0.4418 0.4429 0.4441
1.6 0.4452 0.4463 0.4474 0.4484 0.4495 0.4505 0.4515 0.4525 0.4535 0.4545
1.7 0.4554 0.4564 0.4573 0.4582 0.4591 0.4599 0.4608 0.4616 0.4625 0.4633
1.8 0.4641 0.4649 0.4656 0.4664 0.4671 0.4678 0.4686 0.4693 0.4699 0.4706
1.9 0.4713 0.4719 0.4726 0.4732 0.4738 0.4744 0.4750 0.4756 0.4761 0.4767
2.0 0.4772 0.4778 0.4783 0.4788 0.4793 0.4798 0.4803 0.4808 0.4812 0.4817
Zoll 0.4821 0.4826 0.4830 0.4834 0.4838 0.4842 0.4846 0.4850 0.4854 0.4857
2.2 0.4861 0.4864 0.4868 0.4871 0.4875 0.4878 0.4881 0.4884 0.4887 0.4890
2.3 0.4893 0.4896 0.4898 0.4901 0.4904 0.4906 0.4909 0.4911 0.4913 0.4916
2.4 0.4918 0.4920 0.4922 0.4925 0.4927 0.4929 0.4931 0.4932 0.4934 0.4936
2.5 0.4938 0.4940 0.4941 0.4943 0.4945 0.4946 0.4948 0.4949 0.4951 0.4952
2.6 0.4953 0.4955 0.4956 0.4957 0.4959 0.4960 0.4961 0.4962 0.4963 0.4964
2.7 0.4965 0.4966 0.4967 0.4968 0.4969 0.4970 0.4971 0.4972 0.4973 0.4974
2.8 0.4974 0.4975 0.4976 0.4977 0.4977 0.4978 0.4979 0.4979 0.4980 0.4981
280) 0.4981 0.4982 0.4982 0.4983 0.4984 0.4984 0.4985 0.4985 0.4986 0.4986
3.0 0.4987 0.4987 0.4987 0.4988 0.4988 0.4989 0.4989 0.4989 0.4990 0.4990
3.1 0.4990 0.4991 0.4991 0.4991 0.4992 0.4992 0.4992 0.4992 0.4993 0.4993
3.2 0.4993 0.4993 0.4994 0.4994 0.4994 0.4994 0.4994 0.4995 0.4995 0.4995
3.3 0.4995 0.4995 0.4995 0.4996 0.4996 0.4996 0.4996 0.4996 0.4996 0.4997
3.4 0.4997 0.4997 0.4997 0.4997 0.4997 0.4997 0.4997 0.4997 0.4997 0.4998
3.5 0.4998 0.4998 0.4998 0.4998 0.4998 0.4998 0.4998 0.4998 0.4998 0.4998

Z 0.00 0.01 0.02 0.03 0.04 0.05 0.06 0.07 0.08 0.09
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